
























































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































x=D^3 δx=3D^2δD y=V δV
1 0.26214 0.0123 0.14 0.05 slope: 0.526018 -0.0018
2 2.0484 0.0484 1.08 0.05 δ slope: 0.000759 0.0072
3 6.859 0.1083 3.6 0.05
4 11.09 0.1492 5.82 0.05
5 16.581 0.1951 8.73 0.05

y = 0.52602x - 0.00175
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Measuring π with marbles of different 
sizes




